




Which number will replace the question mark (?) in the 
following series? 

115, ?, 134, 145, 157, 170 

A. 124 
B. 122 
C. 125 
D. 127



Select the figure in which the given figure is embedded. 
(Rotation is not allowed).



Select the option that is related to the third number in the 
same way as the second number is related to the first 
number. 

9 : 90 :: 12 : ? 

A. 160 
B. 150 
C. 156 
D. 152



Select the option that is related to the third number in the 
same way as the second number is related to the first 
number. 

9 : 90 :: 12 : ? 

A. 160 
B. 150 
C. 156 
D. 152



Find the odd one out. 

A.UVYCH 
B. JKNRV 
C. GHKOT 
D. PQTXC



Which letter will replace the question mark (?) in the 
following series? 

X, R, ?, I, F, D, C 

A.Q 
B. M 
C. N 
D. O



Which letter-cluster will replace the question mark (?) in 
the following series? 

FKP, HNT, JQX, LTB, ? 

A.MWF 
B. NWG 
C. NXF 
D. NWF



Select the word-pair in which the two words are related in 
the same way as the two words in the following word 
pair. 

Suitcase : Cloakroom / सटके स:  ू क्लोकरूम

A. Salary: Credit / वेतन: के्रडिट
B. Money : Bank / धन: बैंक
C. Chair : Furniture / कुसी: फनीचर
D. Bag: Luggage / बैग: सामान



Find the odd one out

A. Inquire / पछताछ
B. Deliberate / जान-बझकर
C. Explore / . छान-बीन करना
D. Examine / परीक्षण करना



Which two signs should be interchanged to make the 
following equation correct?

4 × 5 - 24 ÷ 12 + 8 = 14 

A.+ and ÷
B. ÷ and ×
C. + and –
D. × and +







Which letter will replace the question mark (?) in the 
following series?

D, J, ?, S, V, X 

A.O 
B. M 
C. P 
D. Q



Select the option that is related to the third number in the 
same way as the second number is related to the first 
number. 

3 : 30 :: 4 : ? 

A. 64 
B. 66 
C. 70 
D. 68



‘

Similarity' is related to "Difference' in the same way as 
'Transparent' is related to ____________.

'समानता' का सं बंध 'अतर' ूं सेउसी तरह हैजैसे'पारदर्शी' का सं
बंध ____________ से है।

A. Clear / साफ़
B. Water / पानी
C. Lake / झील
D. Turbid / धंधलु ूा



In a code language, CLIMAX is written as 312913124. How 
will RESIGN be written as in that language? 

एककोि भाषा में, CLIMAX को 312913124 केरूप में डलखा
जाता है।उसी भाषा मेंRESIGN को कै से डलखा जाएगा?

A. 185199714 
B. 185198614 
C. 195209714 
D. 185199713



Three of the following four words are alike in a certain 
way and one is different. Find out the odd word. 
A.Diabetes B. Frustration C. Anemia D. Hypertension

डूम्नडलखखत चार र्शब्ों मेंसेतीन एक डनडित तरीकेसेएक जैसे हैं

और एकअलग है। डवषम र्शब् ज्ञात कीडजए।

A. मधमे ूुह B. डनरार्शा C. एनीडमया D.उच्च रक्तचाप



Introducing Kavi, Veena said, "She is the sister of the son 
of the wife of my husband". How is Veena related to 
Kavi? 

A.Daughter B. Sister C. Mother D. Aunt

कावी का पररचय देते हु ए, वीना नेकहा, "वह मेरे पडत की पत्नी के
पतु्र की बहन है।" वीना, कावी सेकै सेसं बंडधत है? 

A. पत्री ूु B. बहन C. माता D. आट



Three of the following four letters are alike in a certain 
way and one is different. Find the odd one out. 

A.O 
B. V 
C. I 
D. U



If 'J' is coded as '20' and 'BAT' is coded as '46' then how 
will 'CRICKET be coded? 
A. 138 B. 158 C. 142 D. 140

यडद 'J' को '20' केरूप मेंकोडित डकया गया हैऔर 'BAT' को '46' 
के रूप मेंकोडित डकया गया है, तो 'CRICKET' को कै से कोडित

डकया जाएगा? A.138 B.158 C.142 D.140



Select the combination of letters that when sequentially 
placed in the gaps of the given letter series will complete 
the series. 

_ c _ b d _ c a b d b _ a _ d b _ a 

A. bdbcba B. adaccd C. cdcbad D. acbcad





Select the word-pair in which the two words are related in 
the same way as the two words in the following word-
pair.

School : Student :: ? : ? / डूद्यालय : छात्र:: ? ? 

A.Hospital : Patient / अस्पताल: रोगी
B. Hotel: Chef / होटल : बावची
C. Court: Judge / न्यायालय: न्यायाधीर्श
D. College : Teacher / कॉलेज : डर्शक्षक





Choose the Venn diagram which best illustrates the 
relationship among the three given classes: 

Fruit, Vegetable, Apple / फल, सब्जी, सेब



In a code language, FRIEND is written as GQJDOC. How 
will PEACE be written in that language? 
एककोि भाषा में, FRIEND को GQJDOC के रूप में डलखा

जाता है।उसी भाषा मेंPEACE कै से डलखा जाएगा?

A.QDBDF B. ODBBF C. QFBBF D. QDBBF


